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[Time: 3.00 Hrs] [ Marks:100 ] 

Please check whether you have got the right question paper. 

N.B: 1. All question are compulsory. 

2. Figures to the right indicate full marks. 

3. Students answering in the regional language should refer in case of 

doubt to the main text of the paper in English. 

 

Q.1 

 

Attempt any two of the following. 

A. Discuss the importance of the circular flow.   

B. Discuss the key differences between Gross Domestic Product (GDP) and Gross 

National Product (GNP). 

C. Describe the sector-wise contribution of Gross Domestic Product (GDP) in 

India.  

                                          

20 

 

Q.2 Attempt any two of the following. 

A. Explain the Keynesian Linear Consumption Function with the help of diagram.  

B. Discuss the short run and long run factors affecting the marginal efficiency of 

capital (MEC).  

C. Explain the term ‘Saving Function’.  

 

20 

Q.3 Attempt any two of the following. 

A. Explain the classification of direct and indirect taxes. 

B. Discuss the different types of budgetary deficit.   

C. Explain the key feature of Goods and Services Tax (GST).  

                                          

20 

Q.4 Attempt any two of the following. 

A. What are types of disequilibrium in the Balance of Payments (BOPs)?  

B. Explain the determination of exchange rate with the help of diagram.  

C. Discuss the merits and demerits of flexible exchange rates.  

                                          

20 

Q.5 Write any two short notes. 

A. GDP Deflator.  

B. Leakages in the working multiplier. 

C. Causes of rising public expenditure.  

D. Causes of disequilibrium in the Balance of Payments (BOP). 

                                          

20 
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[वेळ: ३ तास] [ गुण: १००]     

            कृपया तुम्हाला योग्य प्रश्नपत्रिका त्रिळाली आह ेका ते तपासा. 

सूचना:  १ सवव प्रश्न अत्रनवायव आहते. 

 २ उजवीकडील आकड ेपूणव गुण दर्ववतात. 

 ३ प्रादते्रर्क भाषेत उत्तर दणेाऱ्या त्रवद्यार्थयाांनी र्ंका असल्यास पेपरच्या िुख्य िजकुराचा इंग्रजीिध्ये 

संदभव द्यावा. 

 

प्र.१ खालीलपैकी कोणतेही दोन प्रश्न सोडवा. 

अ ) चक्राकार प्रवाहाच्या िहत्त्वाची चचाव करा. 

ब) सकल दरे्ांतगवत उत्पादन (GDP) आत्रण सकल राष्ट्रीय उत्पादन (GNP) िधील िखु्य फरकांची 

चचाव करा. 

क) भारतातील सकल दरे्ांतगवत उत्पादन (GDP) च्या क्षिेत्रनहाय योगदानाचे वणवन करा. 

२० 

प्र.२ खालीलपैकी कोणतेही दोन प्रश्न सोडवा. 

अ ) आकृतीच्या साहाय्याने केन्सचे रेषीय उपभोग फलन  स्पष्ट करा. 

ब) भांडवलाच्या सीिांत कायवक्षितेवर (MEC) पररणाि करणाऱ्या अल्पकालीन आत्रण दीर्वकालीन 

र्टकांची चचाव करा. 

क) ‘बचत फलन’ ही सज्ञा स्पष्ट करा.  

२० 

प्र.३ खालीलपैकी कोणतेही दोन प्रश्न सोडवा. 

अ ) प्रत्यक्ष आत्रण अप्रत्यक्ष करांचे वगीकरण स्पष्ट करा. 

ब) अर्वसंकल्पीय तुटीच्या त्रवत्रवध प्रकारांची चचाव करा. 

क) वस्तू आत्रण सेवा कराची (GST) िुख्य वैत्रर्ष्ट्ये स्पष्ट करा. 

२० 

प्र.४ खालीलपैकी कोणतेही दोन प्रश्न सोडवा. 

अ ) व्यवहारर्ेषातील (BOPs) असंतुलनाचे प्रकार कोणकोणते आहते? 

ब) आकृतीच्या िदतीने त्रवत्रनिय दराचे त्रनधावरण स्पष्ट करा. 

क) लवत्रचक त्रवत्रनिय दरांचे गुण आत्रण तोटे यांची चचाव करा. 

२० 

प्र.५ खालीलपैकी कोणत्याही दोहोंवर रटपा त्रलहा. 

अ ) स्र्लू दरे्ांतगवत उत्पादन (GDP) अपत्रस्फत्रतकारक. 

ब) गुणकाच्या कायवर्ीलतेतील गळत्या.  

क) वाढत्या साववजत्रनक खचावची कारणे. 

ड) व्यवहारर्ेष (BOP) िधील असंतलुनाची कारणे. 
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